Inference at x 1 2 2
of proof for Lemma append_overlapping_sublists:

1. T : Type

2. Ly : T List

3. Ly : T List

4. L : T List

5.z : T

6. Vi, j:N. (i <|[IL}) = (j < ||LI[) = (=(i = j)) = (=(L[i] = L[j]))

7o f1:{0.Ly @ [} —={0. I L] 7}

8. increasing(f1;]|L1 @ [z]|])

9. Vj{0..[[ Ly @ [z]||7}. (L1 @ [2])[5] = L{(f1(5))]

10. f = {0..([[L2[[+1) " }—={0..[ L[|~ }

11. increasing(f;||La||+1)

12. V{0 ([[L2ll+ D)7} [/ Loll] = LI(f(4))]

13. ||Ly @ [z / Lol = || L[+ L2 +1

14|l = 0

Fincreasing(Ai.if ¢ <z ||L1]| then f1(i) else f(i - || L1]]) fi;]|L1 @ [z / La]||)
& (V{0 L1 @ [z / Lo] ).

(L1 © [ / Lal)j] = LNt § <a L] then f1(3) else £ - L) 6 )()))
by ((Reduce 0)
CollapseTHEN ((Auto_aux (first_nat 1:n) ((first_nat 1:n),(first_nat 3:n
)) (first_tok SupInf:t) inil term)))-

1:

F increasing(Ai.if ¢ <z ||L1|| then f1(¢) else f(i - ||L1||) fi ;|| L1 @ [z / Ls]|)
2:

15. j: {0.][Ly @ [z / Lo]||”}
F(Ly @[z / Ly))[j] = Lfif j <z ||Lq]| then f1(j) else f(j - | La]]) i ]

http://www.nuprl.org/FDLcontent/p0-963683_/p122_84469_{append_-overlapping_sublists }1-2_2.html



